#3403 B 118 CKER)

R RENFEHIS (A15) 2B B #H

Frx EISEHAE: 2149 b+
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
130100 |[7ZLNC A # 15,310
FE 3,050 0 3,050 10 1,080 864
EE 6,380 100 6,280 10 648 1,080 432
KI5 5,760 2,340 3,420 12 864 702 864 540
130340 [;£ICALA ¥ 10,690
EE 70 0 70 10 1,782
REAR 3,120 120 3,000 10 Z, 808 Z 538 2,808 1,814
BRE 6,140 0 6,140 10 2,700 864
130400 15 % 1,150
= 940 10 930 10 5. 400 5,184 1,890
Ik 70 0 70 10 3,996
130500 [1=1F D a3 335
32 104 18 86 /] Z, 700 1,620 3,240 1,080
BERS 104 34 70 2 2.592 1.512 3,024 2,160
130600 |[LA A % 1,483
mE 1,475 5 1,470 5 4,104 4,320 1,080
131100 [ 3¢ % 21,022
50 6,450 2,100 4,350 15 972 648 1,080 648
£E 2,467 1,249 1,218 15 972 432 972 432
RiF 12,105 3,000 9,105 15 864 972 486
131700 |Fv Y % 44,694
250 25,230 4,500 20,730 10 810 378 756 216
£E 13,014 6,150 6,864 10 648 378 1,037 389
FFrL 4,500 0 4,500 10 648 108
IR 1,950 50 1,900 10 540 518 324
131800 [[F5NAE 3 4,608
£E 1,042 629 413] 02 81 54 70 22
®me 1,978 2 1,976] 0. 08 16
& 765 0 765 0.18 108 35
131910 [FHE a3 4,844
N 15 0 15| 0.045 63 62
EE 143 5 138 05 270 302 270
il Ll 465 0 465 1 756 216
=l 2,449 50 2,399 5 432 16,200 540
IR 1,175 0 1,175 10 2,916 2,700
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#3403 B 118 CKER)

R RENFEHIS (A15) 2B B #H

Frx EISEHAE: 2149 b+
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
= 22 12 10 0.1 43
131950 |B 1 a3 2,752
£E 432 15 417 3 540 1,404 432
B 1,800 309 1,491 3 1,512 864 1,620 648
fE 180 0 180 3 1,296 972
133400 [LA R a3 22,534
Ik 4,840 2,268 2,573 10 1,134 648 1,728 756
EE 11,294 6,774 4,520 10 1,782 648 2,700 648
32 3,400 1,000 2,400 10 1,728 864 1,728 540
RiF 2,800 2,800 0 10 1,404
REAR 200 0 200 10 1,253 648
134100 |31 a3 15,250
32 3,800 850 2,950 5 1,728 1,415 2,052 1,026
iR 135 0 135 5 1,620 1,188
= 880 830 50 5 1,836 1,350 1,566
= I 9,400 6,115 3,285 5 2. 030 1,242 2,052 918
134200 |F I % 3,330
—1—-U-5UK 3,330 40 3,290 10 1, 836 1,836 1,318
134300 |t F sk 6,190
KR 100 0 100 4 2,376 1,458
32 986 44 942 2 1,080 810 1,080 432
=40 2,709 1,112 15971 0.3 124 113 124 108
& 1,255 47 1,209 4 1,620 1,728 778
e 1,140 890 250 5 1,242 1,512
134400 |F<+ % 15,903
EE 1,463 0 1,463 4 3,132 864
& 2,740 36 2,704 4 1,620 1,080 1,512 756
REAR 10,943 695 10,248 [} 1,728 1,080 1,620 432
134500 [E—< > % 4,721
=il 423 117 306] 0.15 92 108 76
=I5 4,223 1,766 2457 0.13 106 66 106 76
135100 [LNAVIF A 3 142
= 62 0 62 ] - - - 3,132 2,808
BRE 40 0 40 2 2,268 1,998
135200 | 3= % 179
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#3403 B 118 CKER)

R RENFEHIS (A15) 2B B #H

Frx EISEHAE: 2149 b+
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hiike | SEM) | $EE) | ®REME) | S@EE) | $EED | ZiEE)

L 104 6 98 Z Z 484 1,728 2,592 1,296
135300 [E—X a3 416

IR 316 30 286 /] Z, 052 1,512 2,268 756

BRE 100 5 95 1 864 936 540
136100 [MAL & ¥ 19,000

®me 2,250 135 2,115 5 Z 160 1, 836 1,998 702

N2 4,785 0 4,785 5 1,728 864
136200 [ E#5Z 3 4,560

BR 4,560 1,270 3,290 10 3. 996 3. 564 4212 2,160
136210 | A—2 1> 3 7,700

dtiEE 7,700 230 7,470 10 Z 916 Z. 106 3,564 1,912
136300 B ¥ a3 2,380

iR 2,280 1,090 1,190 10 3. 564 Z 484 3,456 1,728

BE 100 0 100 10 1,620
136600 |f=F1a= % 380

dtiEE 250 0 250 10 1,944 1,512

EE 130 130 0 10 Z.316 1,944
138100 [ LU =1F “ 3,337

£E 367 177 190 02 108 146

®me 2,164 235 1,929 0.2 194 140 194 97
138500 |LHLE ¥ 2,015

K% 1,985 372 1613 0.2 65 51 62 43
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#3403 B 118 CKER)

R RENFEHIS (A15) 2B B #H

= ENFERHME 432 bk
(gL HEREFST)
fnfh fnfh EEh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
240700 | @R M A A # 5,465
L 1,646 960 686 10 3,726 1,998 3,240 1,080
me 3,819 3,265 554 10 4, 320 1,080 3,240 1,620
241260 |HE A M A 3 1,620
IR 1,620 1,520 100 10 1,080 864 1,404
241320 | /\¥H a3 2,586
LE 2,586 2,586 0 10 1,296 540
241450 |;BR a3 4411
Faxl 4411 710 3,701 10 Z 916 1,728 3,240 1,620
241481 [T aky 3 8,338
IR 704 0 704 5 2,916 1,944
E 5,604 4573 1,031 5 1, 944 864 2,376 540
IR 1,830 345 1,480 5 4,104 1,944
242830 | SLYA T @ 2,070
RS 2,070 530 1,540 10 Z, 700 Z 484 3,024 2,700
246000 |LV\6Z a3 18,053
£E 566 285 281] 025 432 216 432 302
=l 1,088 422 666] 0.3 594 378 540 378
12 2,604 878 1,726] 027 540 270 540 216
8B 2,034 906 1,128 0.24 432 281 410 281
& 4,191 925 3266 025 378 356 432 227
RE 6,667 2,847 3,820( 0.25 410 248 432 248
= % 903 172 731 0.27 410 378 400 346
247100 |[7—JLR A a3 655
E4 il 408 85 323] 8.5 15. 120 11. 880 15,120 7,560
=il 238 111 128 85 8,100 2,700 8,100 3,564
REAR 9 0 9] 85 10,260




SFI34E03 A 11H OKREER)

F A R RS T S (AE5) BHE H

R EIbng e = 12.5 %
(S I E B B )
A . EN7EH (kg o H05E RIS
2 4 — — filik HLAL - — — — —
AH H05E RIS FEM e ED | HE ()| Z2 i) PEH EAE(ED) | FED | ZE)
101 | RERT=\ 598 187 411 Kg | 1,404 540 | fe i 1,620 540
102 |[ZHEIZW 2,616 2,616 Kg g 2,916 324
111 [FiiEED 519 21 498 Kg [|K%& 756 540|520 - £ I7F 1,080 216
113 | RROB®H 71 20 51 Kg [f&&E 2,160 270] feJi 1,944 1,404
114 |5 -H 205 205 Kg HEE[E] 2,376 1,296
115 [z 36 10 26 Kg |&fE 1,404 1,188 =)k 2,160 648
117 [13n 187 187 Kg frJE 3,622 1,296
121 [7bixE 162 90 72 Keg [#EE 1,944 540l 1,890 702
134 [7=Z 293 200 93 Keg |TZE-AJ 1,944 800[ T 1,836 864
137 |[mHES< 138 66 72 Kg [|K%& 2,808 2,376 fujE 3,672 2,592
138 |AR7pEZ 22 22 Kg Lo 864 756
140 |DIT 14 14 Kg B[Sz 23,760 14,400
147 |HEz W 106 16 90 Kg [ER 4,428 3,672] 7 5,000 3,500
158 [N AED 748 72 676 Kg [ERE 810 648 K4y 1,458 324
201 |Vl 612 612 Kg A 234 72
203 [/h&HL 94 94 Kg = 432 270
205 |[FHC 905 905 Kg kL 475 302
206 |=iE 770 770 Kg frJE 1,080 259
208 [0k 339 339 Kg kL 972 216
209 [T D000 480 480 Kg KRy 864 605
210 [iFA VD 132 128 4 Kg [|EIR 4,860 2,160[ =¥ 2,160
AVIRES BN 690 45 645 Kg [ERE 680 JEE R B - Ky 1,566 594
222 [OBZ 270 270 Kg N 288 198
251 |[KAESA 354 33 321 Kg |FU#0 3,348 33 5,994 2,892
252 [WAEESA 37 37 Kg ] 3,564 2,862
254 |[&bIEESAH 431 431 Kg EEpA 1,566 648
303 |[NAZIEW 100 74 26 Kg [EIF 713 252 EFF 713 504
305 [FE4nok 3 3 Kg L 3,888
306 [WEXDh 17 17 Kg L 972 605
319 [=b5 535 235 300 Kg |RIF 432 Qs =58 2,052 432
332 | EA BPE 375 375 Kg E|RES 1,296 1,188
R EE] 18 13 5 Kg [#[E 3,888 2,700] & 9,720
354 |IXFED 32 12 20 Kg S 675 R E 1,080 783
355 [HV 160 160 Kg REA - FoJiE 1,512 432
356 [LUA 75 75 Kg F5EL 1,080 864
357 [JRE 154 13 141 Kg [ILA 1,620 L 2,160 900
358 [KH 10 10 Kg A 1,620
362 |hh& 206 2 204 Kg |5 1,242 = 2,592 648




401

Hup

10

10

Kg

1,404

1,242

402

I7RE

20

20

Kg

4,428

2,916




PO T FR YL ISR T (AN Y) B H
SFI34E03 A 11H OKWEH)

R EIbng e = 0.9 %
(S I E B B )

0 EN7EH (kg wh5E ERSENE]
o i L i o —— — - T -

AH wY5E RIS PEH AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)
507 |2—/LU ) 10 10 Kg FE 626
512 | M 120 120 Kg BIRES 1,200 720
523 | BT 2O 375 375 Kg FE T 2,268 417
524 |mETeE 2 Y 84 84 Kg EEpA 1,512 853
554 |xiX #@mA AR 20 20  Kg B[RES 800 700
558 |FRfa 100 100 Kg Jbre 950 594
560 |WmE7-Z 55 55 Kg EEDA 1,810 750
566 |WENC 18 18 Kg Jbre 1,350 750
576  [mERSS 85 85]  Kg B RERE R3] 1,242 635




PO T FR YL ISR T (AN Y) B H
SFI34E03 A 11H OKWEH)

T EIbng e = 3.1 %
(S I E B B )

0 Fe sk H05E EFS
;EL%P e izl iﬁl (kg) _ e B \ _ 7 _ j TS| _

AH H05E RIS FEM e ED | HE ()| Z2 i) PEH EAE(ED) | FED | ZE)
701 [BHYDA 200 200 Kg frJE 2,214 864
702 |hpE 4 4 Kg [k 1,944
710 |95 HIF 334 334 Kg Koy 1,458 720
751 |[HETF o 227 122 105 Kg [SiR 390 319[JuE 525
754 |BASAE 14 14 Kg I 1,034
755 |BA®HL 120 91 29 Keg [X% 582 ) 2,484 748
756  [BEET 14 14 Kg KRy 1,080
759 |55EEE 114 114 Kg EIIE S 1,980 1,800
760 |HrrEE 756 700 56 Kg |&fE 2,623 1,330 L= 2,700
761 [BodAEE 12 12 Kg R 1,692
767 17250 249 249 Kg & I 2,100 720
768 [E-Z 20 20 Kg FE T 1,800 1,700
801 |HEALXLS 112 112 Kg Aty - db e 1,350 724
802 [HaXiF 100 100 Kg JeviE 1,188
805 |HE=1E 320 320 Kg B|&ES 756 475
810 |BA KT 466 466 Kg B[Sz 2,376 1,512




